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Combined Graduate Level Examination (Tier-11), 2018

[Roll No.
IRegistration No.
Name

Test Venue
Test Time 3:00 PM - 5:00 PM

Test Date 14/09/2019

Subject CGLE Tier Il Paper Il Statistics

Section : Statistics

Q1 gy 3k 7w BEed ¢ F WY U FAAS SAEEE § FEEma 14, 19, 17, 20, 25 UF TEROE

A T §| FAHE Ay 1 6y Tades fhaar gem?
Ans o119

X220

<318

X417

Question ID : 558101783
Status : Answered
Chosen Option : 4

Q2 xR Ry FIT AR TA T TP TR I WAL Fop=2 T &
’!i_illb(x,n,p):x=0,1,2,.., Fos syET e

Ans X1-1
X 2 3 g ol ¥

-dix
f 3. 5L g g

x!

X440

Question ID : 558101693
Status : Answered
Chosen Option : 3

Q.3 uw T (distribution) F BrT, ATCT 10 ¥, TEIOT 16 ¥, v, +1 @ B, , 4 ¥, & g ¥4 @em?
Ans 1. OTHTCT

X 2 AEOFHLAT (mesokurtic)
v o JEREET (leptokurtic)
X 4. WUERET (platykurtic)

Question ID : 558101726
Status : Answered
Chosen Option : 1

Q4 wxfeos o« F BU, WF F7 F FT 3007 (moment) (1) Fg §1 (2j+ D™ 3EET (moment)
(P§j+1] & T T T 3"

Vi o, % STET T SEE FH

Ans
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X 2 oy, ¥ SUET AT SEW AOE
X3 poilo;e, W HH
K4 gy, B 3OS

Question ID : 558101720
Status : Answered
Chosen Option : 2

Q.5 == (origin) & X # FeA F TUF T TGO (moments) —1.5,17,—30 AT 108 Bl AT F S\
HTEOT (moment) &:

Ans X 1.40.75
X2 4275
v': 3975
X 4 41.75

Question ID : 558101718
Status : Answered
Chosen Option : 4

Q6 aer fF (X,iz1) TH AT A PX, =D =p=1-PX,=0), S, =%, % .5 FY T &7 &
afE oefes W &1 5, T 2T T FEM?

M o WeteT n 3l p F Ty gfae Wew
X 2 e p F Ty SWAGT FeF
X s WrHeT np F T I/ T
X 4 YrfreT p F Ty FaAfer e

Question ID : 558101689
Status : Answered
Chosen Option : 2

Q.7 afy FFgst 7 SEER-AET-gAEE 208 § AR s SEget % B m-Ara-gEe 52 8, & fen-
FEEE F A B gem?

Ans 1105
v'2 104
X 3103
X 4102

Question ID : 558101771
Status : Answered
Chosen Option : 3

Q8 wF e A7 F BErr n ﬁﬂ’f‘n’n #rr 4% #) w am # adr witear & v & wew ey
ﬁ?ua:qui‘é:w-wﬁg@ﬂ‘?

XLl
K2 —
ja.i

Ans
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X
|

Question ID : 558101739
Status : Answered
Chosen Option: 3

Q.9 s FueAr F 60% FHIE Forw ¥ =S g1 5 ¥ 10% TR Fuwr & § & w0 ¥ w=aw a9 8,
38 T 80% FE=ndr b fremer & ¥ T e F anfeos w9 @ wum o s & wftean
foraer &7

Ans X1, 0.54
X 2 0.62
v': 0.38

x4 0.46

Question ID : 558101742
Status : Answered
Chosen Option: 3

M o F Y Fear Rfer SEEem
Ans X1 D

x2S

e

vigo

Question ID : 558101779
Status : Answered
Chosen Option : 2

AN o T &1 FgET PR § @ W §a9 deF F Ew B I
Ans x-lma‘m

X 2 gad UFHEAA g
V'3 TardT g

X 4 gAY ged

Question ID : 558101694
Status : Answered
Chosen Option : 4

Q12 45 3R ¢ v TEfRoF FOT ¥ A RER e AR FEEAOT gew #1 AR PB) = 2P(a) AR
P(C)=2P(B) & T P(A) FT7F &
Ans 4

i —

K2 —
K3 —
K4 =

Question ID : 558101740
Status : Answered
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l Chosen Option : 1

Q.13 wr=a@F A, B, C, D HT E 70w 77 & v Uod & 354 €1 A 3R Bt g F ¥ & dox

v
x2
X3
x4

Ans

F o T S I~ T ST

Question ID : 558101795
Status : Answered
Chosen Option: 1

Q.14 2000 afer §2fir & forelt BT & g7 0 100 &7 T & s IRFRCF FHH 1 AT e 0.048
$9 & Wiy e =ar| 0.354 g9 &) 34 2000 aie aaier & tEa =W & e 95% fearswan sEwe
fraaT gem?

Ans X1 0.354+ 1.96 % 0.048
X 2 0.354+0.048
< 3 0.048+ 1.96x 0.354

v 4 0354+ 1.96x 0.0047

Question ID : 558101784
Status : Answered
Chosen Option : 1

Q15 PraffRe afte 70T sk @ifead, o fvdt & 10 Reafdat & R o gordr &

aforer P

3 6

5 4

8 9

4 8

7 1

10 2

2 3

1 10

6 5

9 7

& weaay @1 Ui e g
Ans X 1.0.1

<2 -01

X303

v 4 —0.3

Question ID : 558101761
Status : Answered
Chosen Option : 1
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Q.16 FERoF T X F AT GoedA T () =TsinT 0=x <581 X F IYH Tg¥F fewen gem?

A

ns XT?
Xz.z
(3.3
X4.§

Question ID : 558101746
Status : Answered
Chosen Option : 2

Q.17 Gr=faf@a afes & s w2 & & 9r & F9s7 & gfieor & e waar efur awffeor @ gufar
T g

WEIoT | SS Df MSS F-3eare

|
SFR A| 280 | 2 140 42.04
g B @ 3 ¥

e | 20 | B 3.33

Fo | 640 | 11

(a,B,y) ¥ Foa: A FAT §O7 (B FHEAE FUH TH Fe)

Ans 1. (340,6,113.03)
X 2. (240,6,34.03)
v 3 (340,6,34.03)
X 4. (240,6,113.03)

Question ID : 558101754
Status : Answered
Chosen Option : 3

Q.18 gz (distribution) & frw, ATew 40 &, AfCTaT 405 & T A 41 &, & 927 a1 gwm?
A X ueIreRs TawA (skewed)

v 2. FHUTcHAS AuHA (skewed)

X 3 TEAT

X 4 AETFHLAr (mesokurtic)

Question ID : 558101728
Status : Answered
Chosen Option : 2

Q.19 g@gor & FaedwoT (analysis of variance) ¥ Tast #, =ffls # ¥ sv-avy 5= w8 o2

() 7 & 9Naea & F & 777 790724 @
(Il) 47T (FFeT) & IEGA @ F F A Iaad gem|

e Xiadriadrad
X2 3k, 2=
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X3 Fger |l
v i Faer |

Question ID : 558101756
Status : Answered
Chosen Option: 2

Q.20 ke ForE gexaw # w90 daAT ¥ ok v gEeT S9d aERaT §, a9 g S e
9T I B FES &

X 1. SR Sgefs
X2 HEaEE

v 3 RS

X 4 gd d& (pie curve)

Ans

Question ID : 558101790
Status : Answered
Chosen Option : 3

Q21 afy x=x-X W y=v-7 AR w F@w (X,V),n & & F T & FeEaw I
(coefficient of correlation) fera=r grem?

Ans Txy
X n¥x2Ty?
Xy
1
(Zx2Ty2)n

v 2

2.

_nnxy
Kot st

Question ID : 558101757
Status : Answered
Chosen Option : 2

Q.22 78 fhw v 98707 (observation) ¥ T, RrsreRr (variation) &7 70T 0.2 3R FEROT (variance) 16 ¥
TATEX AT (arithmetic mean) fraar gem?

Ans o 1. 20
X216
X3 14
X418

Question ID : 558101736
Status : Answered
Chosen Option: 1

Q.23 GFdr e Ao F FFE RAewar FUed & Y WY OIE NEAESH Fr gear AT F SAF qua?

A X 1. Atgsr f=RoT (Seasonal variation)
v 2 Ereemfers 39afa (Secular Trend)
X 3 b 3aR-=E1T (Cyclical fluctuation)
X 4 TafEa o1fd (Regular movement)
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Question ID : 558101774
Status : Answered
Chosen Option: 1

Ans

V% S # ¥ wuEw 3@ @ O SiE-ar 7
X gfafaar A et i e
X 2 &g it 75T g F e e

& 3. gAMER-IT AT af¥sT

. TaTEeranst ¥ 9o gEA

Question ID : 558101731
Status : Answered
Chosen Option: 1

Ans

TR 9T F(10, 8) FT AT &7 87

V125
X204
X321
X a1

Q.25 grar & wHer 1990 FUT 796 THIOT T 11 AT O HTSFHAT & WY x FUT y, & = Fl 5% WdFar &

Question ID : 558101750
Status : Not Answered
Chosen Option : --

Ans

fawaar (coefficient) #7 uie p, F A= fFaaT §2
X145

V2 1.125

<3125

x4 0.875

Q.26 Fea (distribution) & FTeW & AX F FHY FT Y HIT (moment) FA: 4 FuT 18 FeT FI Frwdw Fir

Question ID : 558101723
Status : Answered
Chosen Option: 1

Ans

Fo EET E S RO e T 7 o
v 1 TXSxCxXI
K2TxSxC+I
XK3THSxCxI
K4TXS+CxXI

Q.27 Fdmrfere 3uafa (1), AtEAT =T (S), 96w 3a-9EE (C) F Af=afhg iy () F ues ¥ B

Question ID : 558101773
Status : Answered
Chosen Option : 4

Q.28

Ans

HIAT MSA , F& A & 0T S91T & AT T & AT MSE,

e & FROT, T F AT AT

aftenfes war &1 ofE vewr F=ifeor F ReaEr (ANOVA) #r i sfweasr weg &40 &, &

E{MsA) .
E(MSE) %
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X113 %A
X2 1 &% T
K31 F suET
Vi1 g A

Question ID : 558101752
Status : Answered
Chosen Option: 1

02 oo fafr & s, o F e F ¥ el st T ST 32
XK TR F AR a F A

X2g2 3@

Vo THEE F IR Ay I |

X 4 TG % & AT T H

Question ID : 558101787
Status : Answered
Chosen Option : 3

Q30 s ¥ ¥ o Raftvest a1 Raegalt 3 MM, M,,0,,0,,0, #mew, anfas, A st s g §)
aar (skewness) FoTeAw grET, afe:

s o M > M,
K2M>M,
v'3 Q;+ 0y >2M,
X4 Q:+0Q,>M,

Question ID : 558101724
Status : Answered
Chosen Option : 4

Q31 gifemdr TeafaRed § ¥ B T (aEeiEE) W an] 4 aEr
A X1 wefese

X 2 FHE (T9)

v 5 e

X 4. Feftpa

Question ID : 558101698
Status : Answered
Chosen Option : 3

Q32 10 fasF v Ty 3o I § 30w ¥ 30w 1 e (@9) e & FaEer faer 2
Ans 10

K1 —

1024

(2 11

1024
2

X3 —

1024
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" 1024

Question ID : 558101691
Status : Answered
Chosen Option: 1

Q.33 100 ot # waE & v, IH # Ay 3 AGS Fuea FREw 30 #HR 5 9@ @ A A 98 99
I T 3 34 3R B3 F FEr e ¥ 43 3 35 gz R mm swd @ w@r Ay Sl gem?

Ans o1 30.09

# 2 30.05
X 3 30.41
< 4 30.01
Question ID : 558101713
Status : Answered
Chosen Option: 1
Q.34 o 2 5
HEHIT FT Trna:,qﬁ?m?r e I[UTTeR T gl

A . sofadT @
X 2 gATET Ay
X 3. FUTAHS kA
X 4 FUHF ATET

Question ID : 558101762
Status : Answered
Chosen Option : 3

Q.35 smmm Fee (discrete distribution) &9, e #1 RHaT (skewness) &1 TUw 5, e # F gFar
g &

Ans  f1 B, >1
N2 <]
X3 B <~1
X4 B=1

Question ID : 558101717
Status : Answered
Chosen Option : 4

Q.36 afy v|f,i=12..n ¥ deT § 3N sHF A=F Gowa 15 T 77 30 § A G & ¥ e
T IO P /T A

Ans X1 D
X205
VAR
X 4200

Question ID : 558101714
Status : Answered
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l Chosen Option : 1
Q.37 war 50 Tt 80 AT X 4 FUW 3 AAw Fruer @ X FAY, & TAY GEAG W E X+ Y #
a7
Ans X1 N(130, 7)
< 2. N(130, 3)
< 3. N(130, 4)
« 2 N(130, 5)

Question ID : 558101745
Status : Answered
Chosen Option : 3

Q.38 warET (ANOVA) waT Fffaor # freole afteeaan, k & fffes oat & For gwrot #7 s,

T=fafeT # 8 o sngma 2
MW Hoipy =y = =
<2
Hy: FAAFA T LA & BT 0, =051, j =12,k i #j
K3 Hyoy=0,=-=0;
< 4

Hy: #A @ ®A Th ZIA & T p = pj;0,j =12, ki #

Question ID : 558101751
Status : Not Answered
Chosen Option : --

Q39 afE 1y, = +0.80 , 135 = —0.40, 1y = —0.56, A Ig FEHAY ONF F 3 Riy, (AT F IR 3
&) T &

Ans X 1.0.8021
v 2. 0.6434
~ 3 0.7586
X 4 —0.436

Question ID : 558101766
Status : Answered
Chosen Option : 2

Q.40 Rw =rv iwE 52, 56, 66, 70, 75, 80 3 82 ¥ v AfTwF (Median) ¥ &y # Arew F=a (Mean
deviation) &:

Ans X1
X2
X3
v

w dO W -

Question ID : 558101711
Status : Answered
Chosen Option : 2

Y et & et &, e # @ s ey w7
Ans XT
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femTor #r afden R & @y g9 o & #3498 g
52
qgaT U 3R / AT ITEE F WY IR T FA

X o FAAET FoAAT BAT g
o -
S AISAES HITIEdT & MU & §F & 39T fhar =mar gl

Question ID : 558101767
Status : Answered
Chosen Option : 4

2 ygerse grefoE W T g AT § @ S B2
Ans «1_ D

X 2 gt

K3 c

X 41

Question ID : 558101690
Status : Answered
Chosen Option: 2

Q43 afEE Fem R @, IR REfREt F R #teh e T J @ s s

Ans Average
X ——8 w10
Grand Average
Average
2 —2 %100
Grand Average
x 3 Average
" Grand Average
Average
X 4 9% x4

Grand Average

Question ID : 558101777
Status : Answered
Chosen Option : 4

Q.44 arERar dea (frequency distribution) T % faIT, WO FaTT (classes) T FEw foew & ¥ fow W

iy 2l 22
A X 1. geToT (observation) #r TEIT

X 2 gayer #r Rufa

X . 3EHAT (responses) F HHR

W 4 FTH (class) F ITHER

Question ID : 558101734
Status : Answered
Chosen Option: 1

Q.45 % .

312 SIATHA F[ONF b,y 3bys by, T IUTAGH T g

Ans
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1+1+1

Tiza Faga 31z

W 2 T23T31%12

1
X (r23733.1731.2)2

Ta3tiag 1 1312
3

Question ID : 558101765
Status : Answered
Chosen Option : 3

Q.46 vx T=g & FHTNG & T F AT w7 T Aey 15,000 T FHOT (variance) TO00 F o &

Ans

faafa faar 7o &1 3w & ¥ (variance) Fr wETET FT FEN?

<130

X 2 ¥16.67
v 3 15,000
/< 4 3900

Question ID : 558101730
Status : Answered
Chosen Option : 2

Q.47 =fE ¥p,q, =160, Tp,q, =250, Tp,q, = 200, Ep,q, = 288, A R sneey gusis o § & Fas

Ans

T A

X 1.119.02
X 2125
V'3 120
X 41152

Question ID : 558101770
Status : Answered
Chosen Option : 2

Q.48 st A4 ¥ AT F=EFT (mean deviation) FF TEY FH g, W9 4 Fewlaf@e @ @ e gufeem?

Ans

X . gAETET ATeT (Arithmetic mean)
X 2. Sgelsh (Mode)

o FifeTsT (Median)

X 4 glOcH® AT (Harmonic mean)

Question ID : 558101709
Status : Answered
Chosen Option : 3

Q49 #fx 7,,2,,..,2,, n THET WSS AT TR E AL, 2 S wHEA FEM?

Ans

X 1. 2n f33f Tad9ar F WY FE-alE e
X 2 (n,n) T=h Taa9ar & @y F faawor
X3 n fEh wgaaes @y ¢ fRaror
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V' TR TaaEaT & Wy FE-aEa Sagr

Question ID : 558101782
Status : Answered
Chosen Option : 2

Q.50 e 104 Fur 114 #memt 3T 200 Fur 510 WEIUl F Wy 2 &4 & gedw & dua gEw 15 o7
AT & Fuetoin ofiwevar o8 § &F S swwe ave @A ¢ ar i (tstatic) @ AW @
a.—,

Ans  X'1.0.79
v'2 0.097
X3 0.079
X 4 0.97

Question ID : 558101785
Status : Answered
Chosen Option : 4

Q.51 zrew, mfege 3k A Twr FHT A= F=e 25, 24, 26 3% 5 F Wiy e & Fw, & Aude v
fawmar (skewness) &1 T o & & forwer awaw g

Ans X 1..0.20
v 2 -0.20
<31
X4 —1

Question ID : 558101722
Status : Answered
Chosen Option : 2

Q.52 zf s Rfvew wefRos 9T X WA ded &7 FGEOT HET § T 49 8, 9, 11, 15, 18, 20 A &
FoUAT FIGT &, A1 P(1X — 14| < 5) & AR fFaar gem?

v
X2
X3
x4

Ans

LT S I R A N R

Question ID : 558101796
Status : Answered
Chosen Option : 2

Q53 2 TETAR Tut # HerET-3eET S (I B & Aew (2 F) FEeEr §-

TEY e | T [ [ e
T (2016 ) 600 | 700 | 400 | 300
ToT (2017 ) 700 | 600 |480 | 270

W e B @, o7 75w NaaT % 7 E
Ans 4

K TET H 2% S g

Vo HET #H 25% # U g
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Ko TET H 2% @ YS FAT
X4 TET H 25% F YT FAT

Question ID : 558101768
Status : Answered
Chosen Option : 2

Q54 ¥mfer 1 ¥ T 9EEA (Poisson) e $T Wiedse SIS FaT 2E?

Ans 5 T
1. i T .
x }1+3 504

. | 1
2. i i
x A+3+ 504

X s ddo

3 504
1 1

o il

3 504

Question ID : 558101715
Status : Answered
Chosen Option : 2

Q.55 s F=A-FE F 3o w1 gw B9 F o mw

Ly IR (‘000 T)(FW)
1969 76
1970 87
1971 95
1972 81
1973 91
1974 96
1975 90

A @& R (Sx=0,5x% = 28,Lxy =56) ZaRT a¥ 1972 # 3evfed & HY He] WG 3T @
3T A g 1976 & fr seaew e e 87

Ans x 1. 98

v'2 96

< 3 88

< 4 86

Question ID : 558101776
Status : Answered
Chosen Option : 4

Q.56 ot axg ¥ TrE=tIpT Roew, Faw ¥ fgia aur aefRodsor o amnfia gar §

A X anfEsmT (FmsfEe)
X 2 FsrsTar
X 3 i T
v+ 9fapid (Replication)

Question ID : 558101755
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Status : Answered
Chosen Option : 2

W Wit p F WY SUHAT deF F agers (F15) - 82

Ans

x|

log,(1 —'p)]

Xz.j%
v &)
X4

1
L
T

Question ID : 558101706
Status : Answered
Chosen Option : 4

Q.58 ueF AT U O W FEET g% 10 BV 0y € watEe gewr &, #h s § s uw
% 15 fastger it ofa & T9w 3ar §1 3u aitwa oty (i) e 2

Ans of 112
X2125
X3 128
X413

Question ID : 558101703
Status : Answered
Chosen Option: 1

Q59 mmer 0 AR wETT 1 aTer WD BT @ o, FERiEE # @ GEer sweEe sem
e XK1 a=0 3R g =1 & Tr deT ge T
X 2 Fmem 0 3R w@eor 1 arer fegmdt ¢« — §ea &+t
X3 Fre 0 R SEROT 1 I T s A
v\ TEEEar & R 1 Fer FE-IET ged #7

Question ID : 558101688
Status : Answered
Chosen Option : 3

Q60 Rz ¥ @ F vw 7Y F O & T (suit) F 9 FE e H e widwar @

Ans (13) % (39) B

v 2 4
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Question ID : 558101738
Status : Answered
Chosen Option : 3

Q.61 =fy Arew T 4 F T AR A I U, TEH WEHAT F WA Fr §, A geAHt F g

Question ID : 558101687
Status : Answered
Chosen Option : 2

Q.62 5, 3N o, FTH Ruew T ¥ H Y & AT FEEAT AU » | IS S & oiEAT F A T
#r FreREr &

Ans 1—p2

r 0

Oxdy

(2 1-1r? gpoy
" r oo

X3 1-r2 Oy Oy
r Ox4+dy

x 4 1-r2

r

Question ID : 558101764
Status : Answered
Chosen Option: 2

Q.63 vx FrEE F FF T T 50 ¥ 30T 37 I FEANET F7 9y 7% dET sO-aET 160 O
SafF 50 ¥ 7 37 T FHAE F AET FE-EET 210 9§ s FHaRat w7 9fy a@e A
FA-FAT 200 €2 §| 50 ¥ HUF 37 a @A 50 ¥ FA IR A FHAANET FT IS FqE?

Ars o114

X229
<331
X4+1:3

Question ID : 558101700
Status : Answered
Chosen Option: 1

Q64 FrafflE & ¥ Fa-ar ReaT gear & wRwa & Affe &= ¥ gy 78 2

e o cofEmera TiREwr
X 2 gieTdT gfeewor
& 3 o TR
X 4 grofédie aRERar FieesoT
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Question ID : 558101737
Status : Answered
Chosen Option : 3

Q.65 afy et # & s@enst & HFRK 2, =10, n, =5 § A AT, =7, =4 § FUr
0,=1TMo, =1 AF% Fe §) of% FgFa 7T £ =6 & T FFW 0, +0, &F FA FYIT FTA F
3T e gem?

ans X1 9
V23
X3 1
X4 2

Question ID : 558101712
Status : Answered
Chosen Option : 2

Q.66 T A 5 MM, M, AT, ACTE HR AE AW Q0 IR @ TIIF F aET = § v A
T F7 A1 fA9HAT (skewness) FT 79 AT &7

Ans X 1. 5. =M+ M,
X285 =M+M,
[(Q: —M,) — (Mz — Qy)]
QB_QI
X4 S =(Q3 —My) + (My—Qy)

V3 S =

Question ID : 558101721
Status : Answered
Chosen Option : 4

Q.67 gft T ¥ Te=dFs fivee, FEfRfRe & @ e Bv gaw 5w w=d3va & SR sy wEr
?‘

Ans ‘Xlaﬁm
& 2 g
X 3. FTOTAT
v o FE & g T

Question ID : 558101753
Status : Answered
Chosen Option : 2

W T e ¥ BT, AR d r sRo e

Ans  of 1. mean = median = mode
X 2 mean # median = mode
&< 3 mean = median # mode
& 4 mean = mode # mode

Question ID : 558101697
Status : Answered
Chosen Option: 2

Q.69
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ofg s N & NHT Swwem & sEwwes & B 3R n & anfos S B e g a
FHAT A & A= Ife F QAo ovw wRE Fw gem?

Ans x T i:;
v &) E
Xa =
X+ Ui

Question ID : 558101780
Status : Answered
Chosen Option : 2

Q.70 whawe A0t FEERY O # g, = 1 -, A e A & A ¥ pa® @ sfean e
IEGCi

X 4i:n(:rﬁ— 1)
V> in(nz— 1)
X3. n

X -1

Ans

Question ID : 558101759
Status : Answered
Chosen Option : 2

Q7 gz Rftre ot F acihat F & $ BeAar F FE A9 FGT F4GT E2?
e X grefReew o

v 2 gEit & ofrar e

X5 FEit & @ Beaar

X 4 F7 HT Fer TEAT

Question ID : 558101747
Status : Answered
Chosen Option : 3

V72 e & ¥ FF-T T AR FRE SEA T B O e 2

Ans XT qi =T T .

<2
HTRIThd HeaTeIoTa (price relatives) &7 3itaa faeprerem

v o R aeRY gEee

X 4. TTeY F GIwRH

Question ID : 558101789
Status : Answered
Chosen Option : 3
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Q73 e Aot & R v Hte g & e & G # & Fad Y ggEe 7 o B
A e R

v 2 aiftrd gHEERT

X s AT wdeT fafer

X 4 muer dtog fBfer

Question ID : 558101775
Status : Answered
Chosen Option : 2

Q.74

afE X, AN X, WX, F SgHSHEY qONF YT ¢, A
Ans  of 1.y = 0y=0
™ 2T =00
K3+ 0n;#0
X 4Ty F0ra =10

Question ID : 558101794
Status : Answered
Chosen Option: 3

Q75 Fmem (M) , AREE (M,), AR A (M,) ¥ A e (empirical) Faw T Fer 2
Ans of 1 My =3M,;—2M

X2 My,=2M;+3M

X3 My=3M;+2M

X 4 My=2M,;—3M

Question ID : 558101727
Status : Answered
Chosen Option : 2

U e # ¥ FiAE-ar Ser FERI0T F GHR ALY &7
e arferd geifET

X 2 IO Feftenor

X 3 atfares geffegor

X 4 FIATH A FIRIOT

Question ID : 558101732
Status : Answered
Chosen Option: 1

Q77 sz i S TR ST TR T T R T T A e FE F A i X §F R
TGS 4 1 3 & 7 3W T g = F Ov Fan ¥ F v gaemgem 7 8 ¥ 3%
mm{ﬂ?ﬁﬁmw#ﬁmﬁmm?ﬁmmmmtmmtmn
FT T A& FT Tehe? T FITAERAT FT &2

X1E

105

Ans




https://haryanajobs.in
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105

Xa —

105
32

v
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Question ID : 558101741
Status : Answered
Chosen Option: 2

Q.78 zfr mrew p 3k Rt of F WY N TEETT Fr 9RTET SEEET € sarae & R ae o ¥
X Xo,. X, U WS TEfSO AT € A (X, X) FT HEwwROT fEaar gem?

Ans 3

X1 ==

Question ID : 558101781
Status : Answered
Chosen Option : 4

7 - veEd gEe:

AnS X 1. Fae FEF SHATT SJ&TOT & HISE gl LT &
X2
el BURAT F Fedwr TN T TS AL AT &

< 3
FRF SHAUT 0T AR TeRar & Fechrg T F HgSE AT §

v
FREF FHAUT T AR TR & Fechw TheTor A F FIE A AT §

Question ID : 558101772
Status : Answered
Chosen Option: 3

Q80 RyrafafEe siwst # Rea@at & 3@ &1 wAaw AT (arithmetic mean) a7 22

3T feanfiat & T
0-10 12
10-20 18
20-30 27
30-40 20
40-50 17
50-60 6
Ans x 1. 48
<218

X< 3 38
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Question ID : 558101699
Status : Answered
Chosen Option : 4

Q.81 T TEEaY IUTE (multiple correlation coefficient) R,,, #r WaTe fraetr gr 22

s X282
v20&T1
X3 -130
X4 131

Question ID : 558101758
Status : Answered
Chosen Option : 4

%2 Crfafla iest &1 A5 (GUHeT $ 2 T %) T 87

=
0-10 6
10-20 9
20-30 g
30-40 14
40-50 28
50-60 20
60-70 11
70-80 9
ae X128
V2 46.36
X 2 39.34
X 4 5254

Question ID : 558101702
Status : Answered
Chosen Option : 3

Q.83 e sjwem # fadhy fasieswar, W 3TATT (trend) F WATH FA H FEHAT FT WhT €7

() EferEna su=fT
(I I@F 39T

Ans X1 Faer I

X2 | 3k Il =t

v 3 Fae |
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Xaoggrl sdiikagrl

Question ID : 558101788
Status : Answered
Chosen Option : 3

Ans

Q84 ofy wae ARfRo® XY & FAW n=3,p=> M n=5p= & Ty RwdT w7 ¥ RaRa

3

FWFEE S (X+v=1) T ofEma L

=)
xx1-()
x+1-()
Ke1-()

Question ID : 558101692
Status : Answered
Chosen Option: 1

Ans

085 frw 1w 2er & 9¥ 2006 F U SEEEY F Hoa-gEw e 37

T A GA Gl
2005 2006 2005 2006
A 3 5 2.0 25
B 4 6 2.5 3.0
& 2 3 3.0 2.5
#1.100.36
v'2 111.36
X3 121.36
X< 4.101.36

Question ID : 558101769
Status : Answered
Chosen Option : 4

Q.86
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Aol Hisr &1 =tar 2"+ (decile) &
X F
0 1

1 S

26

59

72

b2

29

W | @ ;| & W] M

Ans «1_

P
S
[ IR PN

Question ID : 558101704
Status : Answered
Chosen Option : 2

Q.87 If the marks obtained by 500 candidates in statistics paper is given below, then the lower quartile mark is:

Marks No. of
more Candidates
than
(1] 500
10 460
20 400
30 200
40 100
50 30
Ans X1 20.25
W2 2125
X 3. 125
X 4300

Question ID : 558101705
Status : Answered
Chosen Option : 2

Q88 38, 39, 40, 52, 59, 67, 73, 77, 149, 248 =T ¥ fAw i I Fw 2
Ans X 1. 64

< 2 61

<3 62

v 4 63
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Question ID : 558101791
Status : Answered
Chosen Option: 1

Q.89 zeafe & ary & 7 + 3 9 — IUETEA DT (moment) B TA F&A x,1f;, i = 1.2,..n A Seafea & &y 7 o
T (moment) F pf, HR up, S E |t FoAE T & ¥ BEs awe gem?

X .IHEZ} g P:Eﬂ
2 .IHEZ} 5 P:Eﬂ

Ans

Question ID : 558101719
Status : Answered
Chosen Option : 1

Q.90 ey urdy ®r 400 =T e v 3T 80 & 6 HTAT| 95% TeITEIET F Wiy vw frsasy oy
fiEsar # FE SEUa & BT 3w fer @ 3uaer fFar SEr ¥ B aw 5w F gl A e F ¥ A
| HUS HE E7

A X H, e R
X2 p & ATS & 177 §
X 3. ofieror @IETHT AT 0.0186 §
v i H, T E

Question ID : 558101786
Status : Answered
Chosen Option : 4

Q91 trami e T v =1 ¥ =2 WA EEa AP FI @A AR x =1 3ET x =2 #
ifeaT &

Ans of 1. 4e72
X 2 3e2
X 3 g2

Question ID : 558101695
Status : Answered
Chosen Option : 3

O e g = (57 LE g <2} e e 3 R T g

0; elsewhere
Ans
Ko

;l'h ST N T VR AT

Question ID : 558101744
Status : Answered
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l Chosen Option : 2

Q.93 v ymeTr F7 W, W 6 60 F AT @ F WY TS (poisson) T2 §, I AT TH N F
fre sm @ &) Wit & FE-3mEe (inter-arrival) FRT $r FeEw (FEean) w4 @e?

Ans X160
X2 0.1
X3 1
v 6

Question ID : 558101729
Status : Answered
Chosen Option : 3

Q.94 sram= & 3T §, YT W AT 148 gm FUT AwH RAw 17.4 gm @1 FeeE, ReROr @ aons
e o=t 7

Ans x.l_ 13
X214
X3 11
vi12

Question ID : 558101792
Status : Answered
Chosen Option: 1

Q.95 wrerer, e 2 & v RERUT AT FFEAr g, S s & Rwaar & gfRdms A = 042,
HHET AT = 86, Aftger = 80 §:

Ans X 1. 51
X2 53
X3 52
v 4 B0

Question ID : 558101793
Status : Answered
Chosen Option : 3

% Srafaf@a saRar 9ea & R T (median) fraer 2902

X f
1 8
2 10
3 11
4 16
5 20
6 25
7 19
8 9
9 6




Ans
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X1 4
V25
X3 20
X 4 65

Question ID : 558101701
Status : Answered
Chosen Option : 2

Ans

Q.97 x mARIET AT (arithmetic mean) 3T B=ToT iIW'IiF FA: 10 3T 40 § &y = 10-2x &1 JE5IOT &

X132
v'2 64
X3 22
X416

Question ID : 558101707
Status : Answered
Chosen Option: 1

Ans

Q98 Wefex p F WY SAAAT Fe F HOFT FLA /W (FFean) Feaa gEm?

X1 6-— v
1-p
r G = i
1-p
X3_ 4+i
1-p
Vo6t
1-p

Question ID : 558101716
Status : Answered
Chosen Option : 2

Ans

2% e &1 e Sfoeew e & wEfea &

. TqE & TREaT ¥ T=ET
Il. TheT % IEas & =49

XrafLdAradladrg
X2 Faar |l wér g

v Fad | mEr g
X3 I, S wer &

Question ID : 558101763
Status : Answered
Chosen Option : 1

Ans

10 ot ¥ BT BeT § 9 Fia-ar v aler a8 32

X 1. maRg yia=Eaa
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X 2 T dERos gia=Eaa
& 3. gy gfa=aa
v 4 srematiyg giaeae

Question ID : 558101778
Status : Answered
Chosen Option : 4






